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Paper / Subject Code: 89287 / Quantitative Analysis. (DLOC)

— 4 “RPcode  |006T730
B sem V] ﬁ R- |9 Csd\em ' :

(Time-3 Hours) S : - Total Marks 80
NB oy
1) Question number 1 is compulsory -
2)  Attempt any three out of the remaining five questrons A
3) Assume suitable data if necessary andjustrfy the*assumptrons

4)  Draw neat and clean dragrams ~
5)  Figures to the right 1nd1cate full marks

Q1 Attempt the following M;-':' - . 3 2 20
a) Justify or contradict — ‘Charts or gra lgs are more effectrve in attractrng attentlon
than any other method of presentmg%ata o . / -

b)  Explain Census method, Its meritsiand demetits. N
c) Justify or contradict bxy and by-must be. e”ﬂrer posmve or negatrve o
d)  Explain Simple Random Samphng y 4
Q2 a)  For 100 students of a class the. regressmn" equatronv‘of marks Statlstlgs(X) and. 10
ECOnOmlCS(Y) is 3Y-5X $180 =0."The mean “marks in“Economics is 50, and variange
of marks in Statistics~is 4/9 of the marks in Economics. Flnd the mean marks in

Statistics. and the coefﬁclent of correlat,ron between them. .

b)  Define and explam the followmg terms  with an. example aGrouped data class:interval, 10
class limits, class boundaries, class mark mcluswe and exclusrve serles frequency
and tally marks

Q3 a) Explain. regress1on and its types Also e’xplam regressron analysrs and discuss its 10
appllcatlons VQI" F ’{_:;"," _;:; i
b)  Explain parametr1c pomt est1mat1on in detarl . N 10

,\‘»r

Q4 a) For the followrng data o o
“ S
i)y  Fita regressmn y~ a+ bug,l + bzXz P
ii) Find the coefficient of mﬁltrple determmatlon (R?).
1i1) Also test the: s1gn1ﬁcance of regressron (Grven the appropriate Table

(.Ayalue F = 13 274, fer a srgnrﬁdance level of a=0.01)

10

Sales Sales in. Advt m Number of

Territory (Lakh Rs ) 'QOO sellmg agents

\ Y (xl) + (x2)

1 190 | 80 40

2 80w 35 ¢ 13

3 75 o 35 7

4 100 50 20

5 125 60 ¢ 19

6 .90 v 40 13

7 2170 Ne, 20 20

8 - 130 60 28

b)  Whatdo you understand by Data collection? Classify different types of data based on 10
sources of data.
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raper / Subject Code: 89287 / Quantitative Analysis (DLOC) 7

Q5 a) :

What do you mean by Partial correlation coefﬁéiénts? Explain in detail. e
b)  Explain in detail Neyman Pearsonlemma . 0
Q6 Write short notes on o X : 2

a) Meaning and 1mportance oﬁabulatwn
b) Method of maximum hkehhood

c) Significance of Overall 1 fit of reggeﬁmon model
d)  MP and UMP tests. ; ey

O a7
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Paper / Subject Code: 89285 / Internet of Things (DLOC)

T&\ 2.0m \’g] c-schimg p- p-1006€ 057
. ( ) Com
q Pllteff 1£/0)
Time: 3 hours ’ Vak.hdarks.SO
Instructions:
1) Attempt any Four questions. - -~>\ ;'«“ & :
2) Figures to the right indicate full marks. 3 &7
3) Assume suitable additional data if necessary and clearly state 1t 3 :
Q.1 (a) Discuss IOTWF Standardlzed Archlteeture = 3 10
(b) What is IOT? How IoT is. drfferent from Dlgltlzatlon? Lrst out the 10
different I0T Challenges % < ;
~ ;f) L ' '
Q2 (a) Give Class1ﬁcat10n of networks accordmg to access technologles and 10
distances. % '
Describe don‘iain spee_i_ﬂ\c IOT rel‘ated to sn'_i“art city. - N -
- - ¢ o LY
Q3 (a) With example explam the types of Sensors and Actuators used in; IoT 10
appllcatlons _ / .8
(b) Describe data vs network analytlcs for an foT network 10
- \ . ‘ .}‘:‘”\ 5 w - p .
Q4 (a) Compare and, contrast Apphcatlon Layer protocols $ : i 10
(b) What are IOT software platforrn'7 Explaln with exarnples 0 10
Q.5 (a) Shortnotes on’ Edge cornputlng, Fog computlng and Cloud computing. 10
(b) Briefly explaln Adaptmg SCAEA for IP.- | _.,;g.«“ 10
,:w:\ 3 .‘\.,‘ . -
92 N K3 Q" NL;‘,«n
Q.6 (a) Explain dlfferent IoT enabhng technologles 10
(b) Discuss in brlef- {;;5’ > “s'.\ 10

1. Gateways and Backhaul Sublayer rn Core IoT Functional Stack

2. Cornmunlcatlons Network Layer in Core IoT Functional Stack.

s ke ok g e 3 Kk o ok o o o o o 3 ok ok K K
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aper / Subject Code: 89284 / Artificial Intelhgénce

P P IOOGSISL
TE| sem YT e~schemg Rﬁ(q/@@mmﬁ{ &

Time: 3Hrs.

y ‘ A \\: Marks 80
' Q’ o NG o ‘
NOTE: - -Q1is Compulsory \S‘fb A;:v*\ % «'8?) }‘E\K »(,“\"“
| Pt e 4 T
Solve any three from remammg,leb ; Ssv © \25: , gz‘;v o
' S > & 3o s oS =
Y Q' U e A2
QL. Solve any four from following. <2 ) 40 & O @%‘ & poe
a.  Explain the concept of Co,gpdltlonal@rder plax&g&g S (‘;:*’ o =
b.  Explain the working o@%mforce@ént learnjng. ,\;?b K b@z} & —
¢. Describe four categarize of Artﬁ'mal Inteffigence. & & P & &
d.  Illustrate the apphg@ftlon areas; SOf Al 1%};\3 Robot ? : 53“ (;w : &-‘i‘f" Fou
e.  Generate the pq@e tree fo;;a, sentencek he cat@te the Sish?. @,‘" o G
' NN . (y.‘ Q m ,,:E\ kS

o . W
Q2. a.  All people. @r\ho are %ééauatmgéé‘f‘e happ’ 11 happy people émlle So&‘fé’one is »,1;10]
- graduating,” Converi;»« FOL dnd CNF,y so Proﬁb that “Is%omeonqg%‘rmhng?”@ ‘ 7\..;;7
. Solve uging resol@ o L -
T 7 e Q"
b.  Designa: plamﬂng prob]ffn usin AS”I‘ RH"fofzf-oAlr carg| transpopt’ It 1nvofv9es [103»;
. logéihg and Huﬁloadmg ~ga,ci}?go onto; Rd off oﬂp fanes andflying it om placeqfﬁmal
iy
ate: At SFO airpeft,’ Cargo lanel -at JER: an‘por‘c ”*argoZ Ri’hneZ 1844
Spresent, Goal Stateﬁt SFO! atﬁ)ort C and a¢§[’FK airpf Cargolqg’present?v =
j‘ XX ® e oy -

Q3 & Apply greedy best- first search. At each 1terat10n each node is expaﬂded usmg [10]
e evaluation function f (n) =h(n). h (S) = 10, i (A) = 10, h(D) =8, h(B) =6, h(E)=

& 65, h(C) 4h(E)=3, h(G) 0. SIS start state andGls goal state. -4:2?
. . N R Rl . ”’)Q? s&bl
S~
& &
R & 2 & ~ |
- Qﬁ b. Q}@% lain the,:]f)epth Llrhit searchﬁnd Deptheﬁ’lrst 1te§‘§»?/e deepenmg search [10]
TR ic ‘b Real
§b4 aa,\; ate the g}wblem, *‘hoose é‘Qformulatan that is precise - enough to be [10]
& im é‘rmented, so'identify the m;@%’l state, g§€fl test, successor function, and cost
& o tion fopghe follogf &
¥ Ggg”" roblem$tatementy; utonon?bus Tax;,\d%‘ver
£ b xplagl}ihe conceﬁﬁ of PAQzﬂ’éarnmg S - 10]

& ‘“'»"
705 ,«:\ka T l{bof cle g%%g hous@sz}las beg) asslgned to a vacuum cleaner robot. Initial

5 D at1on ofpobot is Q‘t dbot has to execute appropriate actions in order
& ,:fto cleanchiduse. %e tify theﬁfﬁppropnate type of an agent and applicable task

L L env1rot1%’1ent al,sq dentlfy {fi& PEAS parameters.
& g o
A8 ' Sf‘% Apply alpha beta prur&mg on following graph
> Eog >
,_l}:?? réb 1 b‘b 4 \&b
Y Ny “ o
y & ¥ |
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Paper / Subject Code: 89284 / Artific
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Paper / Subject Code: 89283 / Mobile Computing

| QP—1oo 63142
mswr)ﬁ ) C-scthema \Q»tq\ c@mFuk&(

\o\ 1224

Time : 3 Hours Marks : 80

In«t: uetions to Candidates

I. Question Number 1 is Compulsory, solve any 3 from Remaining Questions
2. Please Specify your answers with neat sketch wherever Necessary
3. Assume any suitable Data and Mention the same in your answer.
Q1. a) Compare all Mobile Generations i.c. 1G, 2G, 3G,4G and 5G. 10
b) Explain GPRS Architecture in detail. 10
Q2. a) Compare Infrastructure Based Network with Ad-hoc network 05
by Explain GSM Authentication in brief 05

. . .
¢) Explain in detail GSM System Architecture and Describe Function of Each

Block. 10

Q2 a) How IP Packet Delivery Takes Place to and from Mobiie Node? Explain in detail. 10

b} Explain Signal Propagation in detail. What are various Signal Propagation Effects? 10

Q4 2) Explain Mobile Terminated and Mobile Originated Call in detail. 10
h) Explain UMTS Architecture. 10
Q5 a) What is Snooping TCP? What are it’s advantages and Disadvantages? 10
b) Explain need of Mobile Communication in various areas. 10

6 a) Write a Short Note on the following

10
L) Tunnelling and Encapsulation Mobile
2) Agent Advertisement and Agent Discovery
b) Draw a ncat sketeh of Bluetooth protocol Stack and explain the same 1¢
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Paper / Subject Code: 89282 / Cryptography & System Security
\o o) 8 €72
TE\ Sva_T\ C—<therng R-19 \ Comruirox( 6\? i

Duration: 3 hours [Max Mirks: 80]

r_-f‘(:,_gzl%

N.B.: (1) Question No 1 is Compulsory... .
(2) Attempt any three questions, out of the: remammg~ﬁve 5%
(3) All questions carry equal ; marks - S
(4) Assume suitable data 1f 1equned and state 1t clearly

a. Explain TCP/IP vulnerab1ht1es layer. Wrse gl:f \/ e R
b. Give examples pf replay attacks LLSI three general approaches for J I
dealing wrthvreplay atta,a( _,--‘f»u W* ,;1;‘“' %\ < * o
c¢. Explain algorrtthQi}nodes et cryptlon:process of%ylnmetgcilcey Ead o
d. Explam/drfferenthash algorr—thm propertles -~ o
Q2 a. Apply Drfﬁeﬁellman~key exchange algox‘ﬂ‘hm twg" users Pz& Q w111 10
agree on tvgo numbe@“as n=11. common prime & «»—7 is generator x—3~, :“
y=6are ppvate keys‘”of P & Q respectmely Wha;ls shared~secret key'i Es
b. Drscuss 'DES w1th reference to fo]lowmg pomts M £ 10
1. Block srze and key size - o 3
2.Need of gxpansion Mpermutatron Y
~ 3.Role of; S-box Y ey R s
- 4. Weak keys and-semi weak keys ey o el
5. Possrble attaéks on DE;S S o & o
i & & &7 o
Q3 a. What cllaractenstrcs ‘are needed ‘in securehash functlonV Explaln secure 10
.“hash alggnthm on~$12 bits., : x,:* Y
b. Use RSA algori i, user é has pubhc key (17“821) B hah public key 10
(6, 321) Calcnla\te pnvat_e keys of both the us,Srs Encrypt m=7 by B’s
public keys, rHow B can decrypt the same,m\\ 5
&F A
Q4 a. How does PGP achleve conﬁdentlahty and authéritication in emails? 10
b. Use the Play fair crpher with the key "DOCUMENT" to encrypt the 10

message "ALL THE BEST"

Q5a. Whyare drgltal ceruﬁcates and' srgnatures requlred? What is the role of 10
digital signature m digital ceﬂrﬁcates" Explain any one digital signature

algorithm.
b. Wtéat are dlfferent types of ﬁ1ewalls’7 How firewall is different from 10
ID
Q6 a, Explam:DES alggrrthm wrth ﬂowcharts , 10

b. What is DDOS‘Attack and how it ] is launched? 10

Wty i
.\w \V\
» \,




Paper / Subject Code: 89281 / System Programming & Compiler Construction

<S§1> — \0DETE S
Lomputet Q\C‘O\ . QS&" .

(3 Hours) Total Marks: 80
N-B: (1) Question No. 1 is compulsory.

) )

2) A.ttempt any three questions out of the remaining five questions.
(3) Figures to the right indicate full marks.

(4) Make suitable assumptions wherever necessary.

Tg( Lem YT { C—s¢homo

Q.1. Al Compare Application Software and System Software. 5
B. Construct operator precedence Parser for the grammar: 5
E—E+E | E*E | a.
Parse the string “a+a*a” using the same parser.
C. Explain forward reference concept with example. 5
D. Explain the functions of a Loader. 5
Q.2. A.  Explain with flowchart design of two pass assembler. 10
B.  Construct Three address code for the following program 10
i=1;
x=0;
while (i <=n)
{
X=x+1;
i=i+1;
}
Q3. A Explain Direct Linking Loader in Detail. 10
B. Design LL(1) parsing table for the given grammar: 10
S —iCtSE | a
E—eS|¢
C—ob
Also state that whether the given grammar is LL(1) or not.
Q4. A Explain the working of a Single-pass macro processor with neat 10
flowchart.
B. Explain with suitable example code optimization techniques. 10
Q.5. A. Explain different issues in code generation phase of compiler. 10
B.  Explain DAG with suitable example. 10
Q.6. A Explain the different phases of a compiler with suitable example. 10
B. Explain advanced macro facilities with suitable examples. 10
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